AIR-CONDITIONING

TR - 91T
( Theory )
(710)
Time : 1% Hours | [ Maximum Marks : 30
T ;1Y T | [ qUiiek : 30
Note : All questions are compulsory and carry marks as indicated against each

question.
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1. How will you install a window-type air conditioner? 3

forel-2130 T FHEieE Sl ohE YRR oI ST 27

2. Write the step-by-step method of charging gas in a water cooler. 3
T FeR H 19 WA h ot Fwager fod |
3. (@) How will you start a sealed compressor without using a relay? 2

Hiog e ! fomr et <t werar @ 58 =/ S 27

(b) Draw a neat wiring diagram of an air conditioner. 1
T ST hl IR s 9 o o |
4. (o) What are the main parts of a split-type air conditioner? 2
foieTe -2130 TR FHEe & F&T 9 & 9 ford |
(b)  Write the difference between window-type and split-type air conditioner. 1
farei-2r3a 3R fEiere-21sd TR FrelerR § 91 3T BT a7
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5. What are the possible causes and their remedies if the sealed compressor of a
window-type air conditioner is not taking start? 3

forel-2180 T FeivT § o Hicg HEE % 9 T o 9T U B 3TN 3% fhE YR Ik
fora STram 27

6. Define : 1x3=3
gty forg
(@) Humidity
TSl
(b)  Air-conditioning
LRIECTCINIE L]
(c) Condensation
FHrSHIH

Fill in the blanks :
s Tl w1 R

7. 1:5 ton air conditioner can remove heat at the rate of —— calorie per hour. 1

1'5 39 TR FHeelyR Th H0 H — el IHT FHeh1er Tomat 2|

8. The chemical name of CHCIF‘2 is —. 1
CHCIF, %! Hfihet 91 —— Bl 2|

9. The temperature of drinking water in a water cooler is controlled by —. 1

e Fer’ B A9 & gt BT qHE —— R e foRA ST 2

10. Gas enters in the cylinder when the piston moves from —. 1

S foeed —— R 3R =T & q9 fafevet 3 9w St 21
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11. To re-start, an air conditioner waits for 1
TR FETR Hl IR I % Tt —— R T Fh1 =Ml

12. —— kVA voltage stabilizer is used with 1-5 ton air conditioner. 1
1'5 9 T eI & T —— kVA &THAT 1 dicds] LfaTeATgst =T ST 2 |

13. To maintain the water level in a water cooler is fitted. 1
T FHer H I il T8 TR T o [l —— I S g

14. capacity of running capacitor is used with 1-5 ton air conditioner. 1
15 27 TR FrelR o T —— AT ol T FUfFex T S 2|

15. 746 watt is equal to —— horsepower. 1
746 9T —— TEIER & SR a2 |

16. After evaporating in the cooling coil the liquid becomes —. 1
FHfcT g § a1fedd g % qvETd, 559 —— o4 Sl ¢

17. For removing dust is used with an air conditioner. 1
ga-fird) & 5= % foIT TR FeeR & —— i e S 2

18. The process of storing gas in the receiver is called —. 1
T ol fefter o wehfra & i form s —— wed 21
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